
Holman 

Rancho Cordova, CA 95742 

800-343-7486 

InstallationSupport@Holman.com 

 20231114R2 DATE: ______________ 

 

Installation Guide 

40060 

 

 
 

 

 

file:///C:/ATG%20Vault/KargoMaster/40060/Instructions/InstallationSupport@Holman.com


Instructions – 40060 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 1 

 

PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO 
ASSEMBLING, INSTALLING, AND USING THIS PRODUCT. 

Warning 

Always check for wires, fuel tanks and lines, brake lines and other important 
vehicle functionality items prior to drilling and installing all products.  

Tools Needed 

7/16” Socket and Wrench #2 Phillips Screwdriver 

1/4” Drill Bit Drill 

Table of Contents 

Parts List .............................................................................................................................................. 1 

Hardware .............................................................................................................................................. 1 

Step 1 – Find Location ......................................................................................................................... 2 

Step 2 – Install J-Hook ......................................................................................................................... 2 

Parts List 

 

Hardware 

 



Instructions – 40060 

For Technical Support Call: 800-343-7486, Monday-Friday, 7AM - 4 PM (PST) Page 2 

 

Step 1 – Find Location 

• Find desired location for J-Hook to be installed.  

• Pre-drilled holes can be found along the side of most 
Holman shelf units.  

• If mounting to a product other than a shelf, locate, mark, 
and drill two 1/4” holes at desired installation location. 

 

 

 

 

 

 
 

 

Step 2 – Install J-Hook 

• Using 1/4" x 5/8” round head screws, 5/16” flat washers and 1/4” lock nuts, bolt the hook to the 
installation surface.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

GO BACK AND TIGHTEN ALL 

HARDWARE. 

 

INSTALLATION IS COMPLETE. 
 


